Study Questions on Spinoza, Ethics Books I and II.

What is a substance? What the difference between an attribute and a mode. What is the relation of a substance’s attributes to its essence and nature?
Why is it that no two substances can share the same attribute?

Why is it that existence is an attribute of any substance?

Explain why given the definition of substance and attribute, and the fact that existence is an attribute of every substance, that there is only once substance that necessarily exists.

There are two senses of ‘infinite.’  The more modern has to do with counting: a set is (countably) infinite (or denumerable) if it can be put into one to one correspondence with the positive integers.  In another older sense a substance infinite is used as a species of negation.  An absolutely non-qualified infinite negation is what we would call in modern logic set complementation: −A is the set of all things that are not in A.  Related is restricted infinite negation or what we would call today relative complementation: B −A is the set of all things in B that are not in A.  This negation is “”infinite” because we are not able to count the elements of B – A, it is “unbounded.”   In the special case in which we can count the elements of B – A if would be finite in its kind.  

In the Neoplatonic tradition, this restricted infinite negation of A, i.e. infinite negation relative to a “kind” B, is related to yet further sense of negation, privative negation:  B – A (i.e. the infinite negation of A relative to its kind B) is that subset of B of which some privative predicate is true.  The understanding here is that the genus or kind B may be divided into those that are normal and fall in A, and those that are not normal (that are unnatural, “imperfect” or “incomplete”) in some way and fall in B – A.  Moreover, the reason they are unnatural or imperfect is that some privative predicate – one that describes a failing, a “lack of being,” an incompleteness” or “imperfection” – is true of them.  For, example, it is natural for humans (in B) to be sighted (to fall in A), hence the blind (in B – A) are humans that cannot see.  Likewise, drunks are humans that are not sober, and brutes are animals that cannot reason.  Note, therefore, that there is a tree-like ordering relation < on genera and species (the tree of genus-species) such that both A and  B – A are nodes in the tree and fall under B, i.e. both A<B and  (B – A) < B.  Moreover, (B – A) < B because  B – A is a privation of B. These relations hold regardless of the size of B – A. If follows that privation indicates species subordination: if something defined “relative to its kind” (i.e. relative to its genus) by privation, regardless of whether it is finite or infinite in number, then it is subordinate to the genus  in the manner of a species to a genus.  
Now, using these distinction, explain what an “absolutely infinite” substance would be, and what a substance that is “finite in its kind” (infinitum in suo genere, “finite in its genus”) would be.
Assume that a genus possess more “being” than the species it embraces, i.e. that the hierarchy of genera and species is also a causal hierarchy.  Assume also that an essence as a collection of attributes, e.g. the species man is defined as a rational, self-moving, living, corporeal substance.  Explain how A is conceived through B with A and B be being understood as ideas is another way of saying  B is the cause of A when A and B are understood as a species and genus of extended substances. 

Among the infinite attributes of God (aka substance) are thought and extension.  How many other infinite attributes are there and what do you think they might include?

What do you think the infinite modes are?  How many are there?  What do you think the finite modes are?  How many of them are there?  What is the correspondence between the infinite modes of thought and the infinite modes of extension?  What is the correspondence between the finite modes of thought and the finite modes of extension?
God is the immanent cause infinite modes, but only the indirect cause of the finite modes, and the eternal finite modes are the cause of the finite modes that have duration.  Sketch how this causal relation, which holds relative to the attribute of extension, is also the conceptual inclusion (the species to genus relation <) relative to the attribute of thought.   Do you think these two relations – the causation relation and the conceptual dependence relations – are intended to be defined by privation?
The finite durational modes are caused by immediately by eternal finite modes and remotely by the infinite modes.  Yet they are also causally influenced by other finite durational modes. How can they be causally influenced by both?

In what sense can causation and conceptual dependence be both necessary and free?
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